
A-A ( 1 : 4 )

B-B ( 1 : 4 )

C ( 1 : 4 )

D ( 1 : 4 )

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

di Gennaro Gianni

 
 




PROMEC


 

 











27-04-11

0004



G. Gennaro

R. De Salvo

LCGT.0012-05

1:1

 





A1

A A

B

B

C

D

318 12 AISI 304 1:1
317 1 AISI 304 1:6
280 1 AISI 304 1:4
267 6 AISI 304 1:1
266 18 AISI 304 1:1
264 3 AISI 304 1:4
ref. pieces material scale

 added and deleted holes part 280 30-06-11
modified part 264 and added part 280 16-05-11

 modified all parts 12-05-11
 changed material 06-05-11
   

modifications
ref. note date

   
   
   
   
   
   

ref. draw. legend

806,5

M12x1.75 - 6H 25

M
12

x1
.7

5 
- 

6H

25

32

27

6,5

32

25

27

6,5

25

1124

326,56,532

267

266

LCGT-SAS
SECURITY STRUCTURE-Gr.0

5°

10 X 45°

R435

57
0

18
°

835

766

R405

R15

R15

M8x1.25 - 6H n°12

12,5 n°3

M12x1.75 - 6H n°3

M12x1.75 - 6H

M
12

x1
.7

5 
- 

6H

36


8


8

36

25

27

36


8


8

25

27

36

264

20

R405

R435

R15

R15

18
°

5°

20

M12x1.75 - 6H

12,5

10x45°

10

6 n°3

6

6

10

6 n°3

380

M12x1.75 - 6H n°4

3

4
00

866

835

800

12,5 n°3

5,5 n°12

317

280

0,5

25

R34,5

25

7

8

5,5
3 X 45°

318


